24 - Test 2 Practice - Review Day 2.notebook October 31, 2018

FLEX - Bully Prevention in the Lecture Hall



24 - Test 2 Practice - Review Day 2.notebook October 31, 2018

5 minutes - Try #s 31-35 on Review

Match each equation to its corresponding graph. Then identify KEY Quadratic features that helped you
determine each match.

31.

~)=-9q

32.
y=-2x*—-8x—-5 ﬁ— +9)(x—1)
N/ -
(0,-5) =3 W8 |

=3. 3 =3 (o]-3) >
2CD_Tt a3 c- =2

2\
c— X
Ugfg the equations Ehphs you matched above identify the coordinates for each of the given points.

Use the equations to verify that they are accurate.
35.A(l'2,d B ,~q C(O,-S D(‘;, )

(Si_;_ D))
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Whiteboards
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The profit, p(x), for a company is given by the function

P(x) = -0.2x* + 50x - 250, where x is the number of units produced

|dentify a, b, and c
a=-0.2.
b= » S0
C=_-729%0
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f(x) = ax*+bx+c. Give a value for a so that f(x)
opens up and is wider than: g(x) = 5x* + 7x - 1

1
a=5

q = "'(12:2‘,( %(-’il‘z_,"( cke. ..
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ne.s 1he profit, @ for a company is given by the function
—
P ) =-0.2 2x + 503( 250, yrhere x is the number of units produced

A - Hohould be produced to yield a maximum profit?

B - What is the maX|mum proflt’?
=2
Pe)= -0 2nsSe0(RD2 a
7‘1,%7; ’ #-q’\'\t ' X




24 - Test 2 Practice - Review Day 2.notebook October 31, 2018

|dentify the vertex and axis of symmetry of the
quadratic equation y = -5(x 4)2 + 1

Vertex: (4, 1) lv
AOS:X::.’. - -“ﬁ‘
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Describe the transformations of the function
f(x) = -3(x + 2)2 +54 5

ﬂ m‘dﬂ ¥: (-2,5)
A0S x= 2
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Describe the transformations of the function
f(x) = 0.5(x - 9)* + 1
Cr — \
%,
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The height h (in feet) of a ball thrown by a child is given by the
function h(l) = -0.5t° + 4t + 2 where t is time in seconds

ho =-0DS* +&®+2 . ot
What is the startingheTgﬁ ofthe %a-ﬁ?

10
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Which number can be used for ¢ to make each
function a perfect square trinomial?

f(x) =x*+6x +c c=9

Cx«-’z,)2 () % C\

f(x) = x*-10x + c_ -m e cC=2%5
- ¢ Y

11
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Wrife the equation of the parabola iQ vertex form
" .- - a(x-h)"+K
AR Ge = (X Lt)z""‘l

Wht is thETHEaitept?

[

-2 T E B 10x (Q/\Z> xz.;};,(g\(%_%
1 V3 Vg
A e =0 4)7-4
o B ()"-Y

SRR O

12



24 - Test 2 Practice - Review Day 2.notebook October 31, 2018

State the domain and range of the parabola

g | Domain: (—vs, m)

? Range: E"‘f( no)

22 4 p & 0

13
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The height h (in feet) of a ball thrown by a child is given by the
function h(t) = -0.5t* + 4t + 2 where t is time in seconds

What is the height of them seconds after it has been thrown?
’

=
9.6 QX

—

({ﬂ’ ‘\“&\‘“\

Swe &

(4

14
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Draw a quadratic function that has:

One solution

v

Two solutions

No real solutions

\J

15
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Write the quadratic equation in vertex form
y=2X+4x-10 . (-]2)

a=2
-4 %:2(\(%7 -2

202D -

16
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The height h (in feet) of a ball thrown by a child is given by the
function h(t) = -0.5t* + 4t + 2 where t is time in seconds

A - How long does it take for the ball to reach its
maximum height? (D

2’?':'3): 24 cemnds

B - What is the maximum height?

N(D= ST ruD =0 Qg

herqit

17
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Solve the quadratic equation 3x* + 6x = 0

18
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What is the y-intercept of the quadratic equation
y =%+ 9x + 20

(0,205)

19
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Calculate the average rate of change of the
function y = 3x* + 2 over the interval [1, 3]

20
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The height h (in feet) of a ball thrown by a child is given by the
function h(x) = -0.5t° + 4t + 2 where t is time in seconds

How long does it take for the ball to hit the ground?

21
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Write the following quadratic equation in factored form
y =x°+ 9x + 20

22
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Write the following equation in standard form
and identify the y-intercept

y=(x+1)Xx-38)

23
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Find the x-intercepts of the functiony = (x + 9)(x - 4)

24
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Write the equation in standard form of a
parabola that has the solutions -6 and 1/3.

25
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HW Tracker due tomorrow! Weeks 8-9

26
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October 31, 2018

1. What does it mean to “solve” a quadratic equation? Explain in a few sentences.

2. What is the difference between a quadratic functions and a linear function? Explain in a few sentences.

3. Decide whether each of the following methods always, semetimes, or never work for solving quadratic

equations.
a) Square Root Method b) Factoring
c¢) Completing the Square d) Quadratic Formula

4. Determine whether each of the following are possibilities for the solution set of a quadratic equation.
(Yes/No). If yes, draw a picture to illustrate each solution.
a) Only one solution b) Two real solutions

¢) No real number solutions d) Three real solutions

Solve each equation using any method you would like.

5.9k24+3k—6=0 6. wi—9w=-14
7. 12x2—-8=16 8. 3x2—6x =15
9.2x2 —10x =0 10. 5(x—6)>=50

27
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11. A ball is thrown into the air. The height %, in feet, of the ball can be modeled by the equation
f(t) = —16t% + 20t + 36, where ¢ is the time, in seconds, the ball is in the air.

a). How high off the ground is the ball after 2 seconds? b). When will the ball hit the ground?

c¢) At what height was the ball thrown from?

d) When did the ball reach its maximum height? e) What is the maximum height?

12. Calculate the average rate of change of the function y = 3x? + 6x — 8 on the interval [-2,0]

Find a value for c that will make each polynomial a perfect square trinomial.

13. x2+16x + ¢ 14. x*>—4x+c

15. Write the general equation of a quadratic in each of the following forms:

Standard Form: Vertex Form:

16. Given y = x? + 2x — 3, find the following:

a) Factored Form: b) Vertex Form:

28
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17. Write a quadratic equation for the given graph. (HINT: Vertex form) 1\

October 31, 2018

18. Write a quadratic equation with the solutions -5 and % in standard form.

Simplify, no negative exponents allowed.

19, (2a§b)3 (3asb3)

16x?y4z3 3+4/45
20, — 2= 21.
48x%yzz3

22. Sketch the graph of f(t) = —t? — 6t — 5 by using the answers to parts (a-g) below:

a) Axis of Symmetry:

b) Vertex:

¢) Direction of Opening:

d) Minimum or Maximum:

€) y-intercept:

f) x-intercept(s):

29
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a) State the vertex:

b) Find the equation of the parabola:

c) State the zeros:

d) State the y-intercept:

e) State the domain:

f) State the range:

g) Find fl-1)

Find vertex form if needed. Then write a verbal expression for each equation describing the
transformation from the parent function.

24 y=—(x-7)?%+3

25. y=x>—6x+4.

26. Answer the following questions about the function that has solutions of —2 and 4.

Factored form: Standard form: Vertex form:

Axis of symmetry: Direction of Opening y-intercept

30
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For each of the parabolas, complete the following:

A) Find the other two equivalent forms of each equation: (Hint: standard form, vertex form, and factored form.)
B) State or find the vertex

C) Find the y-intercept.

D) Find the x-intercept(s), if any. (Hint: try factoring, square root method or the quadratic formula)

E) Graph

27. y=—(x—2)*+3 28. y=(x+1(x—3)

A) A)

B) B)

) ®)

D) D)

E) E)
10r 10r
9+ 9r
8t 8r
7t 7+
B Bl
a1 5F
& 4+
3t 3t
2+ 2r
1+ 1t

§5 432 [ 123458 65432 [ 123458

2t 2+
3¢ 3
4L 4L

29. Write a quadratic equation given the following: Vertex (-1, 1) and a point (2, 4).

30. Given f(x) = ax® + bx + c. State a value for a that makes f(x) opens down and wider than:
g(x) = 2x? +5x + 3.
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Name K@U\ Hr Math 2A — Practice Test #2 (Ch. 3)

1. What does it mean \t_g' “solve” a quadratic equation? Explain in a few sentences.

£10d Whidh {—vawes wake e equarhon trie (X Afetpts)

2. What is the difference between a quadratic functions and a linear function? Explain in a few sentences.

Auadadic has B\ ¢ ek  (dograr 1D

3. Decide whether each of the following methods always, sometimes, or never work for solving quadratic

equations.
a) Square Root Method Sm%ﬁm U] b) Factoring ng

when ne K-vame whan you N factor
c¢) Completing the Square d) Quadratic Formula —Pg\WCMS

4. Determine whether cach of the following are possibilities for the solution set of a quadratic equation.
(Yes/No). If yes, draw a picture to illustrate each solution.

a) Only one solution Wﬁ b) Two real solutions M
NS s RS fwice

¢} No real number solutions m.{_ d) Three real solutions

o No

L
Solve each equation using any method you \goutltgi like. 4
5.§{z+ék—é=g_ -k 6. wi—9w=-14 W
2 3 -2 - i i
(3k*+ K-D=0 %) w*-qw +14=0 £

(2 r3f2k-2)=0
9\(‘“0@{2(*’—*0) =

-~ &

(C(2-2D)° | 773

s Iy A=l
K=o 3R27y e <,
7. 12x2;8=ﬁ 3 8. 3x2—6x=15 ‘Hz -2 =% TR
i ' gX?:bX—IG-':D X ~Z2K-5=0D

129*=24

=
= ls 2+ (22401 '\):/\%

\EY;_% P 24D Ly
X 22005 (13 b =x

2
9. 2x% —10x = 10. %x—sjzzsg
c

1)(:9 5= ﬂ\("b)?qqd
Es =] .

SET

32
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11. A ball is thrown into the air. The height &, in feet, of the ball can be modeled by the equation
_,-——‘7)"(*-;) = —16t% 4 20t + 36, where { is the time, in seconds, the ball is in the air.

£
a). How high off the ground is the ball after 2 seconds? b). When will the ball hit the ground?
i
£(2) :»Up(z\lirw().)%?;b 0 :~i}_§< +1%’° -
4

) At what heigh h \2% sl L. \f\
C t what C‘-lg t was the - ) q‘ hq
%l&'&-@bi' (0177‘95 i Tl mq_l

——Xeah = W
Lj"\ +12 -%-13 %-—*"‘7[@

d) When did the ball reach its maximum height? \JeA¥@Y  e) What is t}:é maximum heig \“"“‘__—_-J'b:_.._ %L
‘ -2 _ K (0- @) = ~(e(0.uz)2™ 5 0
Lo b (Olq % g ~)r:t. (o A5y +20(0 .w(r) L 2
LS

ot KQMg%M!

12. Calculate the average rate of change of the function y = 3x* 4 6x — 8 on the interval [-2,0]
{[tﬂwf(ﬂl} e %‘Jf'("’ el e (D
e e g————" o 2-_ e
02 2z l

Find a value for ¢ that will make each polynomial a perfect square trinomial.

13. x* + 16x+cw (_7_/_5 :Y 4.  x -l{x.,.,g@ 6.%;1 ('2)2: 17‘

Aeyl n

- (xr)
15. Write the general equation of a quadratic in each of the following forms:
Standard Form: Vertex Form:

%rﬂ%wﬂ, ﬂ w&m+K

16. Given y = x% + 2x — 3, find the following: h K
a) Factored Form: &[ b) Vertex Form: (-. }]‘Lf ) A4 :[
=) ut- g X

J ) | ke

g (‘_01 krl[ﬂl)_’g " [ 'Z'_?) = "”L—/I

33
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17. Write a quadratic equation for the given graph. (HINT: Vertex form)

7 ks = 2( Y1 =3 -
S 2% A= o g2l =)
242 +))
ot 22(,1“ YK r2 - I \ L
Y= LX=U X+ .. D
18. Write a quadratic equation with the solutions -3 and — in standard form. VI[
M= 5 ¥ = ‘2“3—, 2
NYB=0  3IX-2L=0
(XAS)(3K-2)
\j = 2% 4 8% ~1D
Simplify, no negati\e exponents allowed. ) 623
: 314445 Lt"\ M
2azb) (34585) > a4 s
N
342\ LA

_

22. Sketch the graph Off(t) —t% — 6t — 5 by using the answers to parts (a-g) below:

a) Axis of Symmetry: ,__.-— lé‘ - -
oy "5 73 x=-3)

b} Wertex: (__%f\_\\ F‘E-;J-)_}_L;(,_g;)_g

¢) Direction of Opening;

whn

d) Minimum or Maximum:

NI UW\

g) y-intercept: 2

f)  x-intercept(s): “

(=D X:‘|

34
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23. Joix a) State the vertex: .
: 1%““ b) Find the equation of the parabola: a=-1L (‘“% 2)
-l L [YE 23 erly =2k 1200
i ""'__“_: X ¢) State the zeros:
Lo | (x=-4 0=-2
{ I - i d) State the y-intercept: m
| | e \d 2By 2 -ZC"'&\ 2 -5
I E - - . e) State the domain: = ‘_uo
! .

~ @

f) State the ran

g) Find f{-1) ‘ﬁ”—"lf"l%) ) i(#i ‘@SI

2P -1 Tb
Find vertex form if needed. Then write a verbal expression for each equation describing the

transformation from the parent function.

24 y=—(x—7)+3

qhﬂ\\m? wmom\ don (dumss Y-ayis)
25 y=g% —(ox+4- _(g_) 3 i C; _E\ %2(1(3)"'["

+ - h: I ‘1’_2!’
Factored form:
=(X+2)(x-4)
W) =(1,4)

= (e~ S vidne3 ., doun G
Standard form: Vertex form:
Axis of symmetry: Direction of Opening y-intercept

26. Answer the following questions about the function that has solutions of —2 and 4. (’K +2>( X"L{')
)( D a] zd) { [1~2(!)1ﬁ={,
*'-b":: ,-2-'— :,J u‘%) \j CDI C) (O}i%>
202U
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For each of the parabolas, complete the following:

A) Find the other two equivalent forms of each equation: (Hint: standard form, vertex form, and factored form.)
B) State or find the vertex

C) Find the y-intercept.

D) Find the x-intercept{s), il any. (Hint: try factoring, square root methad or the quadratic formula)

E) Graph

27 y=—(x=22+3 - (N-DAYD%3 |28 y = (x + 1)(x - 3) y=xt2c+l-23 =

MYZE - (C-wae D B[P a-3] 7 [l

——

B) (2}%) R *LL‘HHQ o B) (‘1[‘!)_-})
o) (16,1 L HY\HJ o (02
)(anfliahc{bmuta X D)X=, V=3 |(-|[0) (3 o)}

| b=y, C=-| il
) ,th @‘ hofa E)
. o

Bl T I R S B e T ]
FEEL T s Ce S S 1

= RWao ~0Wwo
B i e i B e i

—\‘13? 4=4C-1)D

VL s _mgs P EEEE PR RER

4L

h K K

29. Wrile a quadratic equation given the following: Vertex (-1, 1) and a point (2, 4).
- 2
Yza (2_ +)" x| § ! o 8
4 =46 +) y“’g(mbﬂ
—| =
3292 4=k
T 1
30. Given f(x) = ax? + bx + c. State a value
g(x) = 2x% +5x + 3.
el wll
\a=-% -,

|

makes f(x) opens down and wider than:
Ohﬂ m@ Mﬂ@m\lﬂ?

- and lese Trgn -

36
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Match each equation to its corresponding graph. Then identify KEY Quadratic features that helped you
determine each match.

3.\ C 32.@ T
5 ]
y = —Zg— 8x =5 3 = (—3‘2;%3)(;(— 1) —_—
y-iot (0,75 Y3209 4O TR
~lnt (0 -a) \/ !
l:j n ( (01—3)
A 220\ D (Aps
33.@ 34, @ A\
y=2*-3 y=3(x—3)*+0 \
up \J JoreX (3,00 6 —
Yt (03 up \J 1 .

Y =2 (x-0)*-2
e =(0,-3)

Using the equations and graphs you matched above identify the coordinates for each of the given points.

Use the equations to verify that they are accurate.

3. a2, 0) B(O =9) c(0.,-5) p(3.0)
= 01’ = - : Z
023 y=(ora)o-D  Y=2APEDE p=3(x-3)

t2 ’;Col):“l) -~ O~ & 2 _
32 Ll L
B (j bz ¥~ 3

2 2 \f

Y =£l.2 2FR
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